
Вариант № 6 - ОТВЕТЫ 

1: 1024  

2: 452, 423  

3: 7  

4: 2 

5: 4  

6: 4  

7: ЛИМОН  

8: 5 

9: 43  

10: 6  

11: 9  

12: 6 

13: 118  

14: 12212  

15: 500  

16: 3 

17: ЖГБДАЕВ  

18: ВБГА 

19: 1) 767,46 

             2) 1,99 

20:  

закрасить 

нц пока снизу свободно 

  вниз 

  закрасить 

кц 

нц пока сверху свободно 

  вверх 

кц 



21:  

var n,i,a,k: integer; 

begin 

  readln(n); 

  k := 0; 

  for i := 1 to n do begin 

    readln(a); 

    if (a mod 3 = 0) and(a mod 10 = 2) 

      then k := k + 1; 

  end; 

  writeln(k) 

end. 


